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< 2,093,386 2,019,069 74,317
s 17,793,241 15,155,451 2,637,790
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= 16,052,612 15,674,747 377,865
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J| 611,315 360,000 251,315
< 2,090,986 2,016,669 74,317
s 17,751,455 15,115,981 2,635,474
sZLH Jg2 = 2,002,660 1,983,030 19,630
= 359,801 368,801 A 9,000
< 173,803 178,603 A 4,800
[ia 1,469,056 1,435,626 33,430
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= 9,000 18,000 29,000
< 3,000 6,000 A 3,000
[ia 3,000 6,000 A 3,000
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= 9,000 18,000 29,000
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s 3,000 6,000 A 3,000
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2 9,441,846 9,980,284 538,438
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= 6,000 6,000 0
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202 oddl 1,425 1,500 ATH
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09 EAMAIHI 243 5,900 27,000 A11,100
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O Molgss AsBsY 1S
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2 862,304 7,320 854,984
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O RIIEHE XA BF 1,526,202,0008 1,526,202 682,590 843,612
2 663,898 675,270 A11,372
2 862,304 7,320 854,984
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< 249,800 249,800 0
2 999,960 1,000,000 A40
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= 267,200 337,500 A70,300
2 4,865,200 4,993,500 128,300
206 T 2 bl 56,000 58,000 A2,000
< 8,400 8,700 A300
2 47,600 49,300 A1,700
01 M2l 56,000 58,000 £2,000
O SURFASHHNA  FF 56,000,000 56,000 58,000 £2,000
= 8,400 8,700 A300
2 47,600 49,300 A1,700
301 B A 3,879,300 3,840,000 39,300
= 4,950 4,500 450
2 3,874,350 3,835,500 38,850
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[ia 0 70,000 A70,000
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s 19,600 12,250 7,350
O =5dx4d7l Z2 & 35,750,000& 35,750 27,500 8,250
< 10,725 8,250 2,475
[ia 25,025 19,250 5,775
O XAX X3 AS 328 03 0 300,000 300,000
< 0 90,000 90,000
s 0 210,000 A210,000
O t=28 48 sJ/1H 7¢ Z2E & 0 400,000 A400,000
< 0 120,000 A 120,000
s 0 280,000 A 280,000
O Z2J| etEEX 28 0& 0 28,000 A 28,000
< 0 10,500 A 10,500
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s 112,000 0 112,000
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=) 13,500 0 13,500
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< 1,800 0 1,800
[ia 4,200 0 4,200
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s 84,000 0 84,000
O ZE=E 017l
60,000,000& = 1CH * 50/100 30,000 0 30,000
< 9,000 0 9,000
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202 04 | 11,000 0 11,000
=2 11,000 0 11,000
01 22U ol bl 11,000 0 11,000
O MsgxEAY sX=o(88d)
0.0008 * 10% * 553 11,000 0 11,000
=2 11,000 0 11,000
301 LB A 760 0 760
2 760 0 760
TPIEEPE 760 0 760
O AR S o AARIY BEIA(LYHN)
10,0008 * 38% * 23l 760 0 760
= 760 0 760
SEE #AYHY SHAY 1,035,000 504,000 531,000
2 575,000 280,000 295,000
2 460,000 224,000 236,000
402 212H X201 & 1,035,000 504,000 531,000
2 575,000 280,000 295,000
2 460,000 224,000 236,000
01 BIATEMNYEE 1,035,000 504,000 531,000
O S22 #IYH SYMY
2 1,035,000,0008 1,035,000 504,000 531,000
2 575,000 280,000 295,000
2 460,000 224,000 236,000
SN SHEAX KM 30,000 0 30,000
= 12,000 0 12,000
< 6,000 0 6,000
2 12,000 0 12,000
402 212F X201 F 30,000 0 30,000
= 12,000 0 12,000
< 6,000 0 6,000
2 12,000 0 12,000
01 BIATEMNLE R 30,000 0 30,000
O 51 SaFX XA
10,0008 * 300CH 30,000 0 30,000
2 12,000 0 12,000
< 6,000 0 6.000
2 12,000 0 12,000
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= 9,000 4,982 4,018
2 121,000 84,844 36, 156
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2 60,000 33,217 26,783
= 9,000 4,982 4,018
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= 1,800 1,251 549
= 4,200 2,919 1,281
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= 1,800 1,251 549
= 4,200 2,919 1,281
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< 12,000 12,000 0
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